Project Name: Highway 99 Sidewalk					ENGINEER'S ESTIMATE		BIDDER #1		BIDDER #2		BIDDER #3		BIDD	ER #4	BIDDER #5		
Project Number: PRJ0001259 (CRP 310422)							Advanced Excavating		Halme Excavating, Inc.		N.W. Construction General		Western Unite		Lee Contractors, LLC 5900 NE 152nd Ave. STE H260		
Bid Opening Date: May 27, 2025						Specialists, LLC 1200 Hazel St. Kelso, WA 98626-1429		22514 NE 72nd Ave.		Contracting, Inc. 22317 NE 72nd Ave		LLC PO Box 236					
Bid Opening Date. May 27, 2023								_	nd, WA 98604	Battle Groun			98675-0399	Vancouver, WA 98682-5922			
							(360) 232-8854		(360) 687-7399		(360) 687-2040		(360) 309-7114		(360) 723-5295		
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
SCHEDULE	A - CLARK	COUNTY HIGHWAY 99 IMPROVEMENTS															
1	1-09.7	MOBILIZATION	L.S.	1	\$ 90,400.00	\$90,400.00	\$65,761.00	\$65,761.00	\$85,000.00	\$85,000.00	\$47,900.00	\$47,900.00	\$140,000.00	\$140,000.00	\$135,000.00	\$135,000.00	
2	1-05.4	CONSTRUCTION SURVEYING	L.S.	1	\$ 20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	
3	1-05	RECORD DRAWINGS	L.S.	1	\$ 4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$500.00	\$500.00	
4	1-07.13	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$ 5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	
5	1-07.15	SPCC PLAN	L.S.	1	\$ 1,000.00	\$1,000.00	\$185.00	\$185.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$700.00	\$700.00	\$500.00	\$500.00	
6	1-08.3	TYPE B PROGRESS SCHEDULE	L.S.	1	\$ 4,500.00	\$4,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	
7	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$ 40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$68,200.00	\$68,200.00	\$45,000.00	\$45,000.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	
8	1-10	FLAGGERS	HOUR	640	\$ 80.00	\$51,200.00	\$65.00	\$41,600.00	\$66.00	\$42,240.00	\$75.00	\$48,000.00	\$74.00	\$47,360.00	\$66.00	\$42,240.00	
9	1-10	OTHER TRAFFIC CONTROL LABOR	HOUR	100	\$ 80.00	\$8,000.00	\$65.00	\$6,500.00	\$69.00	\$6,900.00	\$75.00	\$7,500.00	\$78.00	\$7,800.00	\$66.00	\$6,600.00	
10	1-10	CONSTRUCTION SIGNS CLASS A	S.F.	197	\$ 30.00	\$5,910.00	\$25.00	\$4,925.00	\$62.00	\$12,214.00	\$30.00	\$5,910.00	\$40.00	\$7,880.00	\$80.00	\$15,760.00	
11	1-10	SEQUENTIAL ARROW SIGN	HOUR	2400	\$ 7.00	\$16,800.00	\$5.00	\$12,000.00	\$3.75	\$9,000.00	\$5.00	\$12,000.00	\$2.00	\$4,800.00	\$5.00	\$12,000.00	
12	1-10	OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$ 10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$25,000.00	\$25,000.00	\$17,500.00	\$17,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
13	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$ 10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
14	2-01	CLEARING, GRUBBING, AND PRUNING	L.S.	1	\$ 12,500.00	\$12,500.00	\$80,000.00	\$80,000.00	\$14,500.00	\$14,500.00	\$12,500.00	\$12,500.00	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	
15	2-01	ROADSIDE CLEANUP	EST.	1	\$ 4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	
16	2-02	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	L.S.	1	\$ 8,000.00	\$8,000.00	\$17,000.00	\$17,000.00	\$28,000.00	\$28,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	
17	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	305	\$ 65.00	\$19,825.00	\$165.00	\$50,325.00	\$54.00	\$16,470.00	\$50.00	\$15,250.00	\$65.00	\$19,825.00	\$150.00	\$45,750.00	
18	2-03	COMMON BORROW INCL. HAUL	C.Y.	25	\$ 125.00	\$3,125.00	\$110.00	\$2,750.00	\$60.00	\$1,500.00	\$50.00	\$1,250.00	\$173.00	\$4,325.00	\$150.00	\$3,750.00	
19	2-03	UNSUITABLE FOUNDATION EXCAVATION INCL. HAUL	C.Y.	20	\$ 50.00	\$1,000.00	\$165.00	\$3,300.00	\$70.00	\$1,400.00	\$250.00	\$5,000.00	\$190.00	\$3,800.00	\$150.00	\$3,000.00	
20	2-09	SHORING OR EXTRA EXCAVATION CL. A	L.S.	1	\$ 30,000.00	\$30,000.00	\$200.00	\$200.00	\$58,000.00	\$58,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	
21	3-04	AGGREGATE COMPLIANCE PRICE ADJUSTMENT	CALC	1	\$ (1.00)	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	
22	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	180	\$ 120.00	\$21,600.00	\$145.00	\$26,100.00	\$90.00	\$16,200.00	\$125.00	\$22,500.00	\$140.00	\$25,200.00	\$150.00	\$27,000.00	
23	5-04	HMA CL. 3/8 IN. PG 58H-22	TON	215	\$ 150.00	\$32,250.00	\$250.00	\$53,750.00	\$250.00	\$53,750.00	\$185.00	\$39,775.00	\$200.00	\$43,000.00	\$300.00	\$64,500.00	
24	6-02	CONC. CLASS 4000 FOR REINFORCED SIDEWALK SLAB	C.Y.	30	\$ 1,735.00	\$52,050.00	\$1,200.00	\$36,000.00	\$500.00	\$15,000.00	\$1,000.00	\$30,000.00	\$1,100.00	\$33,000.00	\$2,000.00	\$60,000.00	
25	6-02	ST. REINF. BAR FOR REINFORCED SIDEWALK SLAB	LB.	3385	\$ 2.50	\$8,462.50	\$8.00	\$27,080.00	\$5.00	\$16,925.00	\$8.50	\$28,772.50	\$6.00	\$20,310.00	\$3.00	\$10,155.00	
26	6-06	BRIDGE RAILING TYPE PEDESTRIAN	L.F.	200	\$ 300.00	\$60,000.00	\$285.00	\$57,000.00	\$150.00	\$30,000.00	\$300.00	\$60,000.00	\$300.00	\$60,000.00	\$250.00	\$50,000.00	
27	6-10	TEMPORARY BARRIER	L.F.	237.5	\$ 70.00	\$16,625.00	\$32.00	\$7,600.00	\$55.00	\$13,062.50	\$65.00	\$15,437.50	\$83.00	\$19,712.50	\$80.00	\$19,000.00	
28	6-10	SINGLE SLOPE CONCRETE BARRIER	L.F.	200	\$ 200.00	\$40,000.00	\$240.00	\$48,000.00	\$250.00	\$50,000.00	\$225.00	\$45,000.00	\$200.00	\$40,000.00	\$225.00	\$45,000.00	
29	6-13	STRUCTURAL EARTH WALL	S.F.	1730	\$ 100.00	\$173,000.00	\$69.00	\$119,370.00	\$65.00	\$112,450.00	\$80.00	\$138,400.00	\$61.00	\$105,530.00	\$80.00	\$138,400.00	
30	7-04	STORM SEWER PIPE 12 IN. DIAM.	L.F.	175	\$ 135.00	\$23,625.00	\$100.00	\$17,500.00	\$125.00	\$21,875.00	\$100.00	\$17,500.00	\$80.00	\$14,000.00	\$350.00	\$61,250.00	
31	7-05	CONCRETE CURB INLET	EACH	1	\$ 3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00	
32	7-05	MANHOLE 48 IN. DIAM. TYPE 1	EACH	1	\$ 7,500.00	\$7,500.00	\$5,500.00	\$5,500.00	\$8,500.00	\$8,500.00	\$5,500.00	\$5,500.00	\$7,300.00	\$7,300.00	\$10,000.00	\$10,000.00	
33	7-05	CONNECTION TO DRAINAGE STRUCTURE	EACH	1	\$ 1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$750.00	\$750.00	\$2,750.00	\$2,750.00	\$2,400.00	\$2,400.00	\$1,500.00	\$1,500.00	
34	7-05	ADJUST MANHOLE METHOD B	EACH	1	\$ 3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,100.00	\$3,100.00	\$500.00	\$500.00	
35	7-08	TRENCH SAFETY SYSTEM	L.F.	175	\$ 7.00	\$1,225.00	\$5.00	\$875.00	\$2.00	\$350.00	\$10.00	\$1,750.00	\$20.00	\$3,500.00	\$5.00	\$875.00	

Project Name: Highway 99 Sidewalk				ENGINEER'S ESTIMATE		BIDDER #1		BIDDER #2		BIDDER #3		BIDE	DER #4	BIDDER #5		
Project Number: PRJ0001259 (CRP 310422)						Advanced Excavating		Halme Excavating, Inc. 22514 NE 72nd Ave. Battle Ground, WA 98604		N.W. Construction General Contracting, Inc. 22317 NE 72nd Ave		Western United Civil Group, LLC PO Box 236		Lee Contractors, LLC 5900 NE 152nd Ave. STE H260		
Bid Opening Date: May 27, 2025					Specialists, LLC 1200 Hazel St.											
Bit Opening Date. May 21, 2023						Kelso, WA 98626-1429				Battle Groun		_	98675-0399	Vancouver, WA 98682-5922		
							(360) 232-8854		(360) 687-7399		(360) 687-2040		(360) 309-7114		(360) 723-5295	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
36	8-01	ESC LEAD	DAY	365	\$ 80.00	\$29,200.00	\$5.00	\$1,825.00	\$50.00	\$18,250.00	\$70.00	\$25,550.00	\$80.00	\$29,200.00	\$10.00	\$3,650.00
37	8-01	INLET PROTECTION	EACH	7	\$ 50.00	\$350.00	\$80.00	\$560.00	\$80.00	\$560.00	\$70.00	\$490.00	\$120.00	\$840.00	\$150.00	\$1,050.00
38	8-01	HIGH VISIBILITY SILT FENCE	L.F.	360	\$ 5.00	\$1,800.00	\$4.00	\$1,440.00	\$5.00	\$1,800.00	\$7.00	\$2,520.00	\$3.50	\$1,260.00	\$8.00	\$2,880.00
39	8-02	TOPSOIL TYPE A	C.Y.	25	\$ 65.00	\$1,625.00	\$90.00	\$2,250.00	\$45.00	\$1,125.00	\$70.00	\$1,750.00	\$90.00	\$2,250.00	\$100.00	\$2,500.00
40	8-02	BARK-COMPOST-WOOD MULCH	C.Y.	8	\$ 75.00	\$600.00	\$90.00	\$720.00	\$55.00	\$440.00	\$90.00	\$720.00	\$90.00	\$720.00	\$80.00	\$640.00
41	8-02	ROCK MULCH	C.Y.	8	\$ 125.00	\$1,000.00	\$300.00	\$2,400.00	\$100.00	\$800.00	\$115.00	\$920.00	\$180.00	\$1,440.00	\$100.00	\$800.00
42	8-02	SEEDING AND MULCHING-SEED MIX A	S.Y.	228	\$ 2.75	\$627.00	\$5.00	\$1,140.00	\$7.00	\$1,596.00	\$15.00	\$3,420.00	\$11.00	\$2,508.00	\$3.00	\$684.00
43	8-02	LANDSCAPE SEGMENTAL RETAINING WALL	L.S.	1	\$ 960.00	\$960.00	\$3,000.00	\$3,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00
44	8-04	CEMENT CONC. TRAFFIC CURB AND GUTTER	L.F.	325	\$ 50.00	\$16,250.00	\$96.00	\$31,200.00	\$54.00	\$17,550.00	\$90.00	\$29,250.00	\$95.00	\$30,875.00	\$60.00	\$19,500.00
45	8-04	CEMENT CONC. PEDESTRIAN CURB	L.F.	26	\$ 35.00	\$910.00	\$113.00	\$2,938.00	\$38.00	\$988.00	\$90.00	\$2,340.00	\$130.00	\$3,380.00	\$50.00	\$1,300.00
46	8-06	CEMENT CONC. APPROACH	S.Y.	40	\$ 220.00	\$8,800.00	\$225.00	\$9,000.00	\$135.00	\$5,400.00	\$250.00	\$10,000.00	\$150.00	\$6,000.00	\$200.00	\$8,000.00
47	8-06	DRIVEWAY CONSTRUCTION TYPE HMA	S.Y.	30	\$ 100.00	\$3,000.00	\$75.00	\$2,250.00	\$58.00	\$1,740.00	\$245.00	\$7,350.00	\$45.00	\$1,350.00	\$80.00	\$2,400.00
48	8-11	BEAM GUARDRAIL TYPE 31	L.F.	50	\$ 65.00	\$3,250.00	\$90.00	\$4,500.00	\$130.00	\$6,500.00	\$101.78	\$5,089.00	\$92.00	\$4,600.00	\$100.00	\$5,000.00
49	8-11	BEAM GUARDRAIL TYPE 31 NON-FLARED TERMINAL	EACH	1	\$ 5,100.00	\$5,100.00	\$6,000.00	\$6,000.00	\$5,600.00	\$5,600.00	\$6,526.25	\$6,526.25	\$5,800.00	\$5,800.00	\$5,000.00	\$5,000.00
50	8-11	BEAM GUARDRAIL TRANSITION SECTION TYPE 24	EACH	2	\$ 5,500.00	\$11,000.00	\$2,600.00	\$5,200.00	\$3,500.00	\$7,000.00	\$7,676.25	\$15,352.50	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00
51	8-11	BEAM GUARDRAIL ANCHOR TYPE 11	EACH	1	\$ 2,400.00	\$2,400.00	\$2,600.00	\$2,600.00	\$2,400.00	\$2,400.00	\$3,076.25	\$3,076.25	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
52	8-14	CEMENT CONC. SIDEWALK	S.Y.	255	\$ 120.00	\$30,600.00	\$155.00	\$39,525.00	\$105.00	\$26,775.00	\$178.00	\$45,390.00	\$150.00	\$38,250.00	\$250.00	\$63,750.00
53	8-14	CEMENT CONC. CURB RAMP	S.Y.	15	\$ 300.00	\$4,500.00	\$258.00	\$3,870.00	\$135.00	\$2,025.00	\$295.00	\$4,425.00	\$450.00	\$6,750.00	\$350.00	\$5,250.00
54	8-15	QUARRY SPALLS	C.Y.	14.5	\$ 200.00	\$2,900.00	\$200.00	\$2,900.00	\$95.00	\$1,377.50	\$125.00	\$1,812.50	\$250.00	\$3,625.00	\$150.00	\$2,175.00
55	8-17	TEMPORARY IMPACT ATTENUATOR	EACH	1	\$ 8,500.00	\$8,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
56	8-18	MAILBOX SUPPORT, TYPE 1	EACH	1	\$ 1,100.00	\$1,100.00	\$700.00	\$700.00	\$650.00	\$650.00	\$650.00	\$650.00	\$10,000.00	\$10,000.00	\$500.00	\$500.00
57	8-20	TRAFFIC SIGNAL SYSTEM (NE HIGHWAY 99 / NE 104TH ST)	L.S.	1	\$ 68,600.00	\$68,600.00	\$90,000.00	\$90,000.00	\$92,000.00	\$92,000.00	\$93,380.00	\$93,380.00	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000.00
58	8-21	PERMANENT SIGNING	L.S.	1	\$ 3,955.00	\$3,955.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00
59	8-22	PAINT LINE	L.F.	230	\$ 1.00	\$230.00	\$4.00	\$920.00	\$6.50	\$1,495.00	\$5.00	\$1,150.00	\$1.85	\$425.50	\$8.00	\$1,840.00
60	8-22	PAINTED WIDE LINE	L.F.	443	\$ 2.00	\$886.00	\$6.00	\$2,658.00	\$7.00	\$3,101.00	\$5.00	\$2,215.00	\$2.50	\$1,107.50	\$10.00	\$4,430.00
61	8-22	PLASTIC CROSSWALK LINE	S.F.	40	\$ 19.00	\$760.00	\$20.00	\$800.00	\$25.00	\$1,000.00	\$156.40	\$6,256.00	\$22.00	\$880.00	\$30.00	\$1,200.00
62	8-22	PLASTIC STOP LINE	L.F.	26	\$ 26.00	\$676.00	\$20.00	\$520.00	\$35.00	\$910.00	\$29.90	\$777.40	\$35.00	\$910.00	\$30.00	\$780.00
			SCHEDU	LE A TOTAL		\$993,680.50		\$973,241.00		\$964,373.00		\$980,608.90		\$1,022,217.50		\$1,197,113.00
SCHEDULE B - CLARK PUBLIC UTILITIES WATER IMPROVEMENTS																
63	1-09.7	MOBILIZATION	L.S.	1	\$12,700.00	\$12,700.00	\$1,885.00	\$1,885.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00
64	1-05.4	CONSTRUCTION SURVEYING	L.S.	1	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$2,000.00	\$2,000.00
65	1-05.10	ONE-YEAR WARRANTY	EST.	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
66	1-07.13	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
67	1-07.15	SPCC PLAN	L.S.	1	\$500.00	\$500.00	\$185.00	\$185.00	\$750.00	\$750.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
68	1-08.3	TYPE B PROGRESS SCHEDULE	L.S.	1	\$500.00	\$500.00	\$150.00	\$150.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00

Project Name: Highway 99 Sidewalk					ENGINEER	'S ESTIMATE	BIDDER #1		BIDDER #2		BIDDER #3		BIDDER #4		BIDDER #5	
Project Number: PRJ0001259 (CRP 310422)							Advanced Excavating Specialists, LLC		Halme Excavating, Inc. 22514 NE 72nd Ave. Battle Ground, WA 98604		N.W. Construction General Contracting, Inc. 22317 NE 72nd Ave		Western United Civil Group, LLC PO Box 236		Lee Contractors, LLC 5900 NE 152nd Ave. STE H260	
Bid Opening Date: May 27, 2025						1200 Hazel St.										
Sid Oponing Salo: may 21, 2020							Kelso, WA 98626-1429					nd, WA 98604	Yacolt, WA 98675-0399		Vancouver, WA 98682-5922	
							(360) 232-8854		(360) 687-7399		(360) 687-2040		(360) 309-7114		(360) 723-5295	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
69	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$10,000.00	\$10,000.00	\$500.00	\$500.00	\$11,000.00	\$11,000.00	\$9,000.00	\$9,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
70	1-10	FLAGGERS	HOUR	100	\$80.00	\$8,000.00	\$65.00	\$6,500.00	\$66.00	\$6,600.00	\$75.00	\$7,500.00	\$78.00	\$7,800.00	\$66.00	\$6,600.00
71	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
72	2-02	REMOVAL AND DISPOSAL OF ASBESTOS MATERIAL	L.S.	1	\$20,000.00	\$20,000.00	\$8,500.00	\$8,500.00	\$9,500.00	\$9,500.00	\$3,500.00	\$3,500.00	\$25,000.00	\$25,000.00	\$2,000.00	\$2,000.00
73	7-08	TRENCH SAFETY SYSTEM	L.F.	215	\$7.00	\$1,505.00	\$5.00	\$1,075.00	\$2.00	\$430.00	\$1.00	\$215.00	\$12.00	\$2,580.00	\$5.00	\$1,075.00
74	7-09	DUCTILE IRON PIPE FOR WATER MAIN 8 IN. DIAM.	L.F.	215	\$300.00	\$64,500.00	\$120.00	\$25,800.00	\$85.00	\$18,275.00	\$175.00	\$37,625.00	\$185.00	\$39,775.00	\$350.00	\$75,250.00
75	7-09	BLOWOFF ASSEMBLY	EACH	2	\$2,000.00	\$4,000.00	\$2,200.00	\$4,400.00	\$750.00	\$1,500.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00
76	7-12	GATE VALVE 8 IN.	EACH	2	\$2,500.00	\$5,000.00	\$4,500.00	\$9,000.00	\$3,200.00	\$6,400.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$500.00	\$1,000.00
		\$	CHEDULE B	SUBTOTAL		\$138,710.00		\$66,000.00		\$72,960.00		\$85,345.00		\$114,960.00		\$120,930.00
		WASHINGTON STA	TE SALES T	AX at 8.50%	_	\$11,790.35	_	\$5,610.00	_	\$6,201.60	_	\$7,254.33	_	\$9,771.60	<u> </u>	\$10,279.05
			SCHEDUI	LE B TOTAL		\$150,500.35		\$71,610.00		\$79,161.60		\$92,599.33		\$124,731.60		\$131,209.05
SCHEDULE	C - CLARK	COUNTY WATER QUALITY IMPROVEMENTS														
77	1-09.7	MOBILIZATION	L.S.	1	\$6,100.00	\$6,100.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00
78	1-05.4	CONSTRUCTION SURVEYING	L.S.	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,300.00	\$1,300.00	\$1,000.00	\$1,000.00
79	1-05	RECORD DRAWINGS	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$300.00	\$300.00
80	1-07.13	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
81	1-07.15	SPCC PLAN	L.S.	1	\$500.00	\$500.00	\$185.00	\$185.00	\$750.00	\$750.00	\$500.00	\$500.00	\$650.00	\$650.00	\$200.00	\$200.00
82	1-08.3	TYPE B PROGRESS SCHEDULE	L.S.	1	\$500.00	\$500.00	\$150.00	\$150.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$2,700.00	\$2,700.00	\$200.00	\$200.00
83	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00
84	1-10	FLAGGERS	HOUR	40	\$80.00	\$3,200.00	\$65.00	\$2,600.00	\$66.00	\$2,640.00	\$75.00	\$3,000.00	\$78.00	\$3,120.00	\$80.00	\$3,200.00
85	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
86	7	CATCH BASIN WATER QUALITY, 2 CARTRIDGE	EACH	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$21,500.00	\$21,500.00	\$23,000.00	\$23,000.00	\$21,000.00	\$21,000.00	\$10,000.00	\$10,000.00
87	7	CATCH BASIN WATER QUALITY, 1 CARTRIDGE	EACH	2	\$13,000.00	\$26,000.00	\$15,000.00	\$30,000.00	\$15,500.00	\$31,000.00	\$17,000.00	\$34,000.00	\$14,000.00	\$28,000.00	\$10,000.00	\$20,000.00
			SCHEDUI	LE C TOTAL		\$66,805.00		\$59,440.00		\$74,895.00		\$80,005.00		\$73,775.00		\$49,405.00
SCHEDULE D - CLARK COUNTY NE 104TH STREET IMPROVEMENTS																
88	1-09.7	MOBILIZATION	L.S.	1	\$10,100.00	\$10,100.00	\$2,180.00	\$2,180.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
89	1-05.4	CONSTRUCTION SURVEYING	L.S.	1	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$1,000.00	\$1,000.00
90	1-05	RECORD DRAWINGS	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$920.00	\$920.00	\$200.00	\$200.00
91	1-07.13	REIMBURSEMENT FOR THIRD PARTY DAMAGE	EST.	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
92	1-07.15	SPCC PLAN	L.S.	1	\$500.00	\$500.00	\$185.00	\$185.00	\$750.00	\$750.00	\$500.00	\$500.00	\$550.00	\$550.00	\$200.00	\$200.00
93	1-08.3	TYPE B PROGRESS SCHEDULE	L.S.	1	\$500.00	\$500.00	\$150.00	\$150.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$5,400.00	\$5,400.00	\$200.00	\$200.00
94	1-10	TRAFFIC CONTROL SUPERVISOR	L.S.	1	\$10,000.00	\$10,000.00	\$500.00	\$500.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$1,000.00	\$1,000.00
95	1-10	FLAGGERS	HOUR	80	\$80.00	\$6,400.00	\$65.00	\$5,200.00	\$65.00	\$5,200.00	\$75.00	\$6,000.00	\$74.00	\$5,920.00	\$65.00	\$5,200.00

Project Name: Highway 99 Sidewalk					ENGINEER'S ESTIMATE		BIDDER #1		BIDDER #2		BIDDER #3		BIDDER #4		BIDDER #5	
Project Number: PRJ0001259 (CRP 310422)					Advanced Excavating			•	Halme Exc	avating, Inc.	N.W. Construction General		Western Unite		Lee Contractors, LLC	
Bid Opening Date: May 27, 2025				Specialists, LLC 1200 Hazel St.			•	22514 NE	72nd Ave.	Contracting, Inc. 22317 NE 72nd Ave		LLC PO Box 236		5900 NE 152nd Ave. STE H260		
Bid Opening Bate. May 21, 2020						Kelso, WA 98626-1429		Battle Ground, WA 98604		Battle Ground, WA 98604		Yacolt, WA 98675-0399		Vancouver, WA 98682-5922		
							(360) 232-8854		(360) 687-7399		(360) 6	87-2040	(360) 3	09-7114	(360) 723-5295	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
96	1-10	OTHER TRAFFIC CONTROL LABOR	HOUR	40	\$80.00	\$3,200.00	\$65.00	\$2,600.00	\$69.00	\$2,760.00	\$75.00	\$3,000.00	\$120.00	\$4,800.00	\$65.00	\$2,600.00
97	1-10	CONSTRUCTION SIGNS CLASS A	S.F.	128	\$30.00	\$3,840.00	\$25.00	\$3,200.00	\$62.00	\$7,936.00	\$30.00	\$3,840.00	\$28.00	\$3,584.00	\$80.00	\$10,240.00
98	1-10	OTHER TEMPORARY TRAFFIC CONTROL DEVICES	L.S.	1	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
99	1-10	WORK ZONE SAFETY CONTINGENCY	EST.	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
100	2-01	CLEARING, GRUBBING, AND PRUNING	L.S.	1	\$2,500.00	\$2,500.00	\$1,250.00	\$1,250.00	\$6,000.00	\$6,000.00	\$8,500.00	\$8,500.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
101	2-01	ROADSIDE CLEANUP	EST.	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
102	2-02	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	L.S.	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00
103	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	50	\$65.00	\$3,250.00	\$100.00	\$5,000.00	\$54.00	\$2,700.00	\$50.00	\$2,500.00	\$100.00	\$5,000.00	\$200.00	\$10,000.00
104	2-03	COMMON BORROW INCL. HAUL	C.Y.	15	\$125.00	\$1,875.00	\$100.00	\$1,500.00	\$60.00	\$900.00	\$50.00	\$750.00	\$220.00	\$3,300.00	\$150.00	\$2,250.00
105	2-03	UNSUITABLE FOUNDATION EXCAVATION INCL. HAUL	C.Y.	10	\$50.00	\$500.00	\$150.00	\$1,500.00	\$70.00	\$700.00	\$250.00	\$2,500.00	\$110.00	\$1,100.00	\$200.00	\$2,000.00
106	3-04	AGGREGATE COMPLIANCE PRICE ADJUSTMENT	CALC	1	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00	-\$1.00
107	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	30	\$120.00	\$3,600.00	\$150.00	\$4,500.00	\$90.00	\$2,700.00	\$150.00	\$4,500.00	\$140.00	\$4,200.00	\$300.00	\$9,000.00
108	5-04	HMA CL. 3/8 IN. PG 58H-22	TON	20	\$150.00	\$3,000.00	\$250.00	\$5,000.00	\$250.00	\$5,000.00	\$375.00	\$7,500.00	\$430.00	\$8,600.00	\$500.00	\$10,000.00
109	7-05	COMBINATION INLET	EACH	1	\$3,700.00	\$3,700.00	\$3,000.00	\$3,000.00	\$4,200.00	\$4,200.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
110	8-01	ESC LEAD	DAY	365	\$20.00	\$7,300.00	\$5.00	\$1,825.00	\$50.00	\$18,250.00	\$70.00	\$25,550.00	\$78.00	\$28,470.00	\$10.00	\$3,650.00
111	8-01	INLET PROTECTION	EACH	1	\$50.00	\$50.00	\$85.00	\$85.00	\$80.00	\$80.00	\$70.00	\$70.00	\$190.00	\$190.00	\$150.00	\$150.00
112	8-01	HIGH VISIBILITY SILT FENCE	L.F.	165	\$5.00	\$825.00	\$4.00	\$660.00	\$5.00	\$825.00	\$7.00	\$1,155.00	\$5.50	\$907.50	\$5.00	\$825.00
113	8-02	TOPSOIL TYPE A	C.Y.	5	\$65.00	\$325.00	\$90.00	\$450.00	\$45.00	\$225.00	\$150.00	\$750.00	\$550.00	\$2,750.00	\$300.00	\$1,500.00
114	8-02	ROCK MULCH	C.Y.	2	\$125.00	\$250.00	\$300.00	\$600.00	\$100.00	\$200.00	\$175.00	\$350.00	\$1,300.00	\$2,600.00	\$300.00	\$600.00
115	8-01	SEEDING AND MULCHING-SEED MIX A	S.Y.	42	\$2.75	\$115.50	\$5.00	\$210.00	\$7.00	\$294.00	\$45.00	\$1,890.00	\$58.00	\$2,436.00	\$5.00	\$210.00
116	8-04	CEMENT CONC. TRAFFIC CURB AND GUTTER	L.F.	240	\$50.00	\$12,000.00	\$96.00	\$23,040.00	\$54.00	\$12,960.00	\$92.00	\$22,080.00	\$100.00	\$24,000.00	\$100.00	\$24,000.00
117	8-06	CEMENT CONC. APPROACH	S.Y.	37	\$220.00	\$8,140.00	\$225.00	\$8,325.00	\$135.00	\$4,995.00	\$250.00	\$9,250.00	\$400.00	\$14,800.00	\$250.00	\$9,250.00
118	8-06	DRIVEWAY CONSTRUCTION TYPE CONCRETE	S.Y.	8	\$200.00	\$1,600.00	\$225.00	\$1,800.00	\$200.00	\$1,600.00	\$250.00	\$2,000.00	\$450.00	\$3,600.00	\$300.00	\$2,400.00
119	8-06	DRIVEWAY CONSTRUCTION TYPE HMA	S.Y.	16	\$100.00	\$1,600.00	\$90.00	\$1,440.00	\$58.00	\$928.00	\$50.00	\$800.00	\$95.00	\$1,520.00	\$300.00	\$4,800.00
120	8-14	CEMENT CONC. SIDEWALK	S.Y.	91	\$120.00	\$10,920.00	\$155.00	\$14,105.00	\$105.00	\$9,555.00	\$175.00	\$15,925.00	\$187.00	\$17,017.00	\$300.00	\$27,300.00
121	8-21	PERMANENT SIGNING	L.S.	1	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00
	SCHEDULE D TOTAL		\$1,000.00	\$110,594.50		\$95,709.00		\$147,762.00		\$176,414.00		\$221,168.50		\$202,079.00		
TOTAL BID				\$1,321,580.35		\$1,200,000.00		\$1,266,191.60		\$1,329,627.23		\$1,441,892.60		\$1,579,806.05		
		% OVER OR UNDE	R ENGINEERS	S ESTIMATE			-9.2	20%	-4.	19%	0.6	61%	9.1	10%	19.5	4%
					010	1/										

Bids have been reviewed for accuracy, unbalancing of bid items, and tabulations checked.

Name: Bart Arthur

Title: Project Engineer

Date: 05/28/25